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Find the height. Find the length of base1.a.

height = base1 =

area =

The area of this 
trapezoid is 20 cm2.
What is the height?

area = area = area =

Find the area of 
the rectangle.

b.

Calculate the area of the shape.f.

c. Find the area of 
the trapezoid 
(shaded area). 

d. Find the area of 
the unshaded parts.

e.

8 cm

2 cm

5 m

4 m 4 m 2 m

Formula for triangle:

A =   × b × h

Formula for rectangle: Formula for trapezoid:

A = b × h A =    × (b1+ b2)× h
b1

b2

b

b
hhh

h

The area of this 
trapezoid is 48 in2.
What is base1?

6 in

6 in

b1

5 in

4 in
4 in

2

1

10 in
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ANSWER KEY

20 =    × (2+8) × h

4 cm 10 in

A = 10 × 5 

A1 =    × (10 + 4) × 4 
A1 =    × 14 × 4 

20 =    × (10) × h

A2 =    × 5 × 4 

A2 = 10 A = 28 + 10
A1 = 28 

A =    × (4+10) × 5 50 m2 
– 35 m2 

50 m2 35 m2 15 m2

38 in2

20 = 10 × h

5 5 

2 
20 = 5 × h
20 = 5 × h

4 = h

48 =    × (b1+6) × 6
48 = (b1+6) × 6

2 
48 = (b1+6) × 3
48 = (b1+6) × 3

3 3 

10 = b1

16 = (b1+6) 
 6 – 16 = b1+6 – 6 

A =    × 14  × 5 


